S8 FoH REERERETS

B BB T L EUE
— ~ EERMRELE ¢ B RERE

Supply side:

~ R %ﬁl 4Ir 25 9% (Y Marshall
Adam Smith (1776) Tyl S :| (1890) & & 7, I 5892

Ricardo (1817) 14 57 B T Tl ST oy ik 8

BRI | L
Demand side: (1870s)
Jevons
SELSer | 26
Menger Sl
Walras

EERESSI U
B URER Tt =y
SIS -

E 0 OFBHEMER : mARRT CAH) BRRTAFEE NS HIR
o flde S TR R TR A T e AE - B R T a0 B AR R H
TRt - CARARMKET -

(2) BB B30 ¢ PR AR R R T e AR AR R AL e H AN 8Y
BN 0 BRHA G BMER R o MAFEZT TR —ma
IR G ETBRAHT ¥ —BIEF TR -

— -~ EEBERER
OEE -
1.4 A (Total Utility 5 TU) = 2~ Q45— 4§ Lokl pofs
ETEFEH E g LA, -
2. %PaR (Marginal Utility s MU) & 3 5790 160 5 gy fhAoif)
ig'}/p* i@bpﬁ@;ﬁﬁ’ﬂl |
OEBEX A MTENEARBRE
L AR+ TS H e TR o R s -
2. B R #EsA (cardinal utility ) B : P%iﬁﬁ[bﬂ i KR I
TR CT 2 DE g .
3. BE R FE F%iﬁﬁﬁf PHF 1 — 7 E:Uﬁﬁ:é; EF
{REQIEE sl IR 1 ﬁgﬁf@@ﬁ; SErpiyEsRgh o ik Bk B €7

AR GRBES]) SR ] gk

_”FE_EE ot



FHB RBWENO - BREEESE D 59

4. S PBR B RRE B SR © v~ PRI - B pafiEry e > i
TR RS s R SR €T PR T v D B 2
fii -

5. XU B EGRF ST etk MUY = f(X)+g(Y) -

2R (D W AMEER 3. A KA Ak o R L sk 4. e R

Pk B e R — B AR T AR o TR T A R
EEY (BRE) W E145~146E (FREMEE—) -
2) 5 5 ABMRE &2 2R HBAY X MRS Uyy =0 ©

= AR BRI R S L RYRAE
OF| PO X [ ETORS R IR TU =TU(X) > BT X = X, [ 38
FRFsR] i Fem g

dTU B . e
MU (X,)= X :,—T\\Ei}vsl‘El‘lE[ﬁg,'\_l—;g\‘J"l:g X, %’!I‘«-{/ﬁ{}‘]@
dXx X=X,
TU
U L .B
TUy - , TUy
L i
: I £ B
XO Xl X (E?j ‘-léi )
H ¢
MU,

’ X (BTETED)
X, X\ MU, E

B5-1 TU, st MU, = Bl%
EF| =IO X CTOMES [ MU BT X = X, [ s
Ol S



5-10 ®¥-F XEHMAWRRKATH

TU(Xo) = f MU 5 dX = 35500 i St L P 38 7 T

EFTHI BRI - FITU B MU i TR BRI AT 2 Al
S1ATR o FEREAERZE T - MU(X) =LA B R - TU(X) =

[JHAX,O -
7 AEEER {5
LANSGS AR - RIREROH © (WAESEIK  (BAFRE  OWHE
POl aGE Tk (DL s DU B AR - (83 R #F T am)
(8] ©

ARIE B 5-1°T S B A B R R — BLalk ek > A2 4R R AT A LA ST
B ERR o ATE W RN BB PO miR R — PR
MEZ E B A o

3E BT E R MUy <0 W > RI(BIUD) B - BAE -

: A person who eats a first chocolate from a box of candies and then a
second, and a third, and so on (and nothing else) in an afternoon will
experience a (A)continuous fall in total utility (B)continuous rise in
marginal utility (C)simultaneous rise and fal in both total and
marginal utility (Drise in marginal utility while total utility declines
(Brisein total utility while marginal utility rises and then falls.
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3. Generally, as the number of hours worked increases, the marginal utility of
leisure tends to: (A)increase (B)remain the same (C)decrease (D)
becomes zero or less. (84% + %)
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4.As Sean’s consumption of rice goes up, his: (A)average utility from
consuming rice increases (B)total utility from consuming rice increases (C)
marginal utility from consuming rice increases (D)elasticity of utility from
consuming rice increases. (965 + 2 £ )
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